

**APPLICATION OF  
FRACTIONAL CALCULUS OPERATORS  
FOR A NEW CLASS OF UNIVALENT FUNCTIONS  
WITH NEGATIVE COEFFICIENTS  
DEFINED BY HOHLOV OPERATOR**

WAGGAS GALIB ATSHAN

*Dedicated to my wife HND HEKMAT ABDULLAH  
on the occasion of the birth of our first baby MALAK*

*(Communicated by Michal Zając)*

ABSTRACT. In this paper, we introduce a new class  $W(a, b, c, \gamma, \beta)$  which consists of analytic and univalent functions with negative coefficients in the unit disc defined by Hohlov operator, we obtain distortion theorem using fractional calculus techniques for this class. Also coefficient inequalities and some results for this class are obtained.

©2010  
Mathematical Institute  
Slovak Academy of Sciences

## 1. Introduction

Let  $A$  denote the class of functions

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1)$$

which are analytic and univalent in  $U = \{z : |z| < 1\}$ . If a function  $f$  is given by (1) and  $g$  is defined by

$$g(z) = z + \sum_{n=2}^{\infty} b_n z^n \quad (2)$$

---

2000 Mathematics Subject Classification: Primary 30C45.

Keywords: univalent function, fractional calculus, distortion theorem, Hohlov operator.

is in  $A$ , then Convolution or Hadamard product of  $f(z)$  and  $g(z)$  is defined by

$$(f * g)(z) = z + \sum_{n=2}^{\infty} a_n b_n z^n, \quad z \in U. \quad (3)$$

Let  $W$  denote the subclass of  $A$  consisting of functions of the form:

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n \quad (a_n \geq 0). \quad (4)$$

**DEFINITION 1.** ([3]) The Gaussian hypergeometric function denoted by  ${}_2F_1(a, b; c; z)$  and is defined by

$${}_2F_1(a, b; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n n!} z^n, \quad |z| < 1,$$

where  $(a)_n = \frac{\Gamma(a+n)}{\Gamma(a)}$ ,  $c > b > 0$  and  $c > a + b$ .

It is well known (see [1]) that under the conditions  $c > b > 0$  and  $c > a + b$  we have

$$\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n n!} = \frac{\Gamma(c) \Gamma(c - a - b)}{\Gamma(c - a) \Gamma(c - b)}. \quad (5)$$

**DEFINITION 2.** Let  $f(z) \in W$  be of the form (4), then the Hohlov operator  $F(a, b, c)$ ,  $(F(a, b, c) : W \rightarrow W)$  ([2]) is defined by means of a Hadamard product below:

$$F(a, b, c)f(z) = ({}_2F_1(a, b; c; z)) * f(z) = z - \sum_{n=2}^{\infty} \frac{(a)_{n-1} (b)_{n-1}}{(c)_{n-1} (n-1)!} a_n z^n, \quad (6)$$

$(a, b, c \in \mathbb{N}, c \neq Z_0^-; z \in U)$ .

The integral representation of Hohlov operator is given by

$$\begin{aligned} F(a, b, c)f(z) &= \\ &= \frac{\Gamma(c)}{\Gamma(a)\Gamma(b)} \int_0^1 \frac{(1-\sigma)^{c-a-b} \sigma^{b-2}}{\Gamma(c-a-b+1)} {}_2F_1(c-a, 1-a; c-a-b+1; 1-\sigma) f(z) d\sigma, \\ &\quad (a > 0, b > 0, c-a-b+1 > 0, f \in W, z \in U) \\ &= \frac{\Gamma(c)}{\Gamma(a)\Gamma(b)} I_{1,2}^{(a-2, b-2), (1-a, c-b)} f(z). \end{aligned} \quad (7)$$

**DEFINITION 3.** A function  $f(z)$  in  $W$  is in the class  $W(a, b, c, \gamma, \beta)$  if it satisfies the condition

$$\left| \frac{z(F(a, b, c)f(z))''}{z(F(a, b, c)f(z))'' - 2(1 - \gamma)(F(a, b, c)f(z))'} \right| < \beta, \quad (8)$$

where  $0 \leq \gamma < 1$ ,  $0 < \beta \leq 1$ ,  $z \in U$ .

## 2. The class $W(a, b, c, \gamma, \beta)$

**THEOREM 1.** Let the function  $f$  be defined by (4). Then  $f \in W(a, b, c, \gamma, \beta)$  if and only if

$$\sum_{n=2}^{\infty} n[(n-1)(1-\beta) + 2\beta(1-\gamma)] \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(n-1)!} a_n \leq 2\beta(1-\gamma), \quad (9)$$

where  $0 \leq \gamma < 1$ ,  $0 < \beta \leq 1$ .

The result (9) is sharp for the function

$$f(z) = z - \frac{2\beta(1-\gamma)z^n}{n[(n-1)(1-\beta) + 2\beta(1-\gamma)] \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(n-1)!}}, \quad n \geq 2.$$

**Proof.** Suppose that the inequality (9) holds true and  $|z| = 1$ . Then we obtain

$$\begin{aligned} & |z(F(a, b, c)f(z))''| - \beta |z(F(a, b, c)f(z))'' - 2(1-\gamma)(F(a, b, c)f(z))'| \\ &= \left| -\sum_{n=2}^{\infty} n(n-1) \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(n-1)!} a_n z^{n-1} \right| \\ &\quad - \beta \left| \sum_{n=2}^{\infty} [n(n-1) - 2n(1-\gamma)] \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(n-1)!} a_n z^{n-1} + 2(1-\gamma) \right| \\ &\leq \sum_{n=2}^{\infty} n[(n-1)(1-\beta) + 2\beta(1-\gamma)] \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(n-1)!} a_n - 2\beta(1-\gamma) \\ &\leq 0. \end{aligned}$$

Hence, by maximum modulus principle,  $f \in W(a, b, c, \gamma, \beta)$ .

Now suppose that  $f \in W(a, b, c, \gamma, \beta)$  so that

$$\left| \frac{z(F(a, b, c)f(z))''}{z(F(a, b, c)f(z))'' - 2(1-\gamma)(F(a, b, c)f(z))'} \right| < \beta, \quad z \in U,$$

then

$$|z(F(a, b, c)f(z))''| < \beta |z(F(a, b, c)f(z))'' - 2(1-\gamma)(F(a, b, c)f(z))'|;$$

we get

$$\left| - \sum_{n=2}^{\infty} n(n-1) \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(n-1)!} a_n z^{n-1} \right|$$

$$< \beta \left| \sum_{n=2}^{\infty} [n(n-1) - 2n(1-\gamma)] \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(n-1)!} a_n z^{n-1} + 2(1-\gamma) \right|,$$

thus

$$\sum_{n=2}^{\infty} n[(n-1)(1-\beta) + 2\beta(1-\gamma)] \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(n-1)!} a_n \leq 2\beta(1-\gamma),$$

and the proof is complete.  $\square$

### 3. Application of the fractional calculus

Various operators of fractional calculus (that is, fractional derivative and fractional integral) have been rather extensively studied by many researchers (c.f. [5], [6], [7]). However, we try to restrict ourselves to the following definition given by Owa [4] for convenience.

**DEFINITION 4 (Fractional integral operator).** The fractional integral of order  $\lambda$  is defined, for a function  $f(z)$ , by

$$D_z^{-\lambda} f(z) = \frac{1}{\Gamma(\lambda)} \int_0^z \frac{f(t)}{(z-t)^{1-\lambda}} dt \quad (\lambda > 0), \quad (10)$$

where  $f(z)$  is an analytic function in a simply-connected region of the  $z$ -plane containing the origin, and the multiplicity of  $(z-t)^{\lambda-1}$  is removed by requiring  $\log(z-t)$  to be real, when  $(z-t) > 0$ .

**DEFINITION 5 (Fractional derivative operator).** The fractional derivative of order  $\lambda$  is defined, for a function  $f(z)$  by

$$D_z^{\lambda} f(z) = \frac{1}{\Gamma(1-\lambda)} \frac{d}{dz} \int_0^z \frac{f(t)}{(z-t)^{\lambda}} dt \quad (0 \leq \lambda < 1), \quad (11)$$

where  $f(z)$  is constrained, and the multiplicity of  $(z-t)^{-\lambda}$  is removed, as in Definition 4.

**DEFINITION 6.** Under the hypothesis of Definition 5, the fractional derivative of order  $k + \lambda$  is defined, for a function  $f(z)$ , by

$$D_z^{k+\lambda} f(z) = \frac{d^k}{dz^k} D_z^\lambda f(z) \quad (0 \leq \lambda < 1, \quad k \in \mathbb{N}_0). \quad (12)$$

Next, we state the following definition of fractional integral operator given by Srivastava et. al. [8].

**DEFINITION 7.** For real numbers  $\alpha > 0$ ,  $\eta$  and  $\delta$ , the fractional operator,  $I_{0,z}^{\alpha,\eta,\delta}$  is defined by

$$I_{0,z}^{\alpha,\eta,\delta} f(z) = \frac{z^{-\alpha-\eta}}{\Gamma(\alpha)} \int_0^z (z-t)^{\alpha-1} F(\alpha+\eta, -\delta; \alpha; 1-\frac{t}{z}) f(t) dt, \quad (13)$$

where  $f(z)$  is analytic function in a simply connected region of the  $z$ -plane containing the origin with order

$$f(z) = O(|z|^\varepsilon), \quad z \rightarrow 0,$$

where  $\varepsilon > \max(0, \eta - \delta) - 1$ ,

$$F(a, b; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} z^n$$

and  $(\lambda)_n$  is the Pochhammer symbol defined by

$$(\lambda)_n = \frac{\Gamma(\lambda+n)}{\Gamma(\lambda)} = \begin{cases} 1 & (n=0) \\ \lambda(\lambda+1) \cdots (\lambda+n-1) & (n \in \mathbb{N}) \end{cases}$$

and the multiplicity of  $(z-t)^{\alpha-1}$  is removed by requiring  $\log(z-t)$  to be real, when  $z-t > 0$ .

In order to prove our result concerning the fractional integral operator, we recall here the following lemma due to Srivastava et. al. [8].

**LEMMA 1.** Let  $\alpha > 0$  and  $n > \eta - \delta - 1$ . Then

$$I_{0,z}^{\alpha,\eta,\delta} z^n = \frac{\Gamma(n+1)\Gamma(n-\eta+\delta+1)}{\Gamma(n-\eta+1)\Gamma(n+\alpha+\delta+1)} z^{n-\eta}.$$

Now making use of above Lemma 1, we state and prove the following theorem:

**THEOREM 2.** Let  $\alpha > 0$ ,  $\eta < 2$ ,  $\alpha + \delta > -2$ ,  $\eta(\alpha + \delta) \leq 3\alpha$ . If  $f(z)$  defined by (4) is in the class  $W(a, b, c, \gamma, \beta)$ , then

$$|I_{0,z}^{\alpha,\eta,\delta} f(z)| \geq \frac{\Gamma(2-\eta+\delta)|z|^{1-\eta}}{\Gamma(2-\eta)\Gamma(2+\alpha+\delta)} \left( 1 - \frac{2c\beta(1-\gamma)(2-\eta+\delta)}{(2-\eta)(2+\alpha+\delta)(1+\beta(1-2\gamma))ab} |z| \right) \quad (14)$$

and

$$|I_{0,z}^{\alpha,\eta,\delta} f(z)| \leq \frac{\Gamma(2-\eta+\delta)|z|^{1-\eta}}{\Gamma(2-\eta)\Gamma(2+\alpha+\delta)} \left( 1 + \frac{2c\beta(1-\gamma)(2-\eta+\delta)}{(2-\eta)(2+\alpha+\delta)(1+\beta(1-2\gamma))ab} |z| \right), \quad (15)$$

for  $z \in U_0$ , where

$$U_0 = \begin{cases} U & n \leq 1 \\ U - \{0\} & n > 1. \end{cases}$$

The result is sharp and is given by

$$f(z) = z - \frac{\beta(1-\gamma)}{ab(1+\beta(1-2\gamma))} z^2. \quad (16)$$

*Proof.* By using Lemma 1, we have

$$\begin{aligned} I_{0,z}^{\alpha,\eta,\delta} f(z) &= \frac{\Gamma(2-\eta+\delta)}{\Gamma(2-\eta)\Gamma(2+\alpha+\delta)} z^{1-\eta} \\ &\quad - \sum_{n=2}^{\infty} \frac{\Gamma(n+1)\Gamma(n-\eta+\delta+1)}{\Gamma(n-\eta+1)\Gamma(n+\alpha+\delta+1)} a_n z^{n-\eta}. \end{aligned} \quad (17)$$

Setting

$$Q(z) = \frac{\Gamma(2-\eta)\Gamma(2+\alpha+\delta)}{\Gamma(2-\eta+\delta)} z^\eta I_{0,z}^{\alpha,\eta,\delta} f(z) = z - \sum_{n=2}^{\infty} q(n) a_n z^n,$$

where

$$q(n) = \frac{(2-\eta+\delta)_{n-1}(1)_n}{(2-\eta)_{n-1}(2+\alpha+\delta)_{n-1}} \quad (n \geq 2). \quad (18)$$

It is easily verified that  $q(n)$  is non-increasing for  $n \geq 2$ , and thus we have

$$0 < q(n) \leq q(2) = \frac{(2-\eta+\delta)2}{(2-\eta)(2+\alpha+\delta)}. \quad (19)$$

Now, by the application of Theorem 1 and (19), we obtain

$$\begin{aligned} |Q(z)| &\geq |z| - q(2)|z|^2 \sum_{n=2}^{\infty} a_n \\ &\geq |z| - \frac{2c\beta(1-\gamma)(2-\eta+\delta)}{(2-\eta)(2+\alpha+\delta)(1+\beta(1-2\gamma))ab} |z|^2, \end{aligned}$$

which proves (14), and for (15) we can find that

$$\begin{aligned} |Q(z)| &\leq |z| + q(2)|z|^2 \sum_{n=2}^{\infty} a_n \\ &\leq |z| + \frac{2c\beta(1-\gamma)(2-\eta+\delta)}{(2-\eta)(2+\alpha+\delta)(1+\beta(1-2\gamma))ab} |z|^2, \end{aligned}$$

and the proof is complete.  $\square$

Taking  $\eta = -\alpha = -\lambda$  and  $\eta = -\alpha = \lambda$  in Theorem 2, we get two separate corollaries, which are contained in:

**COROLLARY 1.** *Let the function  $f$  defined by (4) be in the class  $W(a, b, c, \gamma, \beta)$ . Then we have*

$$|D_z^{-\lambda} f(z)| \geq \frac{|z|^{1+\lambda}}{\Gamma(2+\lambda)} \left( 1 - \frac{2c\beta(1-\gamma)}{(2+\lambda)(1+\beta(1-2\gamma))ab} |z| \right) \quad (20)$$

and

$$|D_z^{-\lambda} f(z)| \leq \frac{|z|^{1+\lambda}}{\Gamma(2+\lambda)} \left( 1 + \frac{2c\beta(1-\gamma)}{(2+\lambda)(1+\beta(1-2\gamma))ab} |z| \right). \quad (21)$$

**COROLLARY 2.** *Let the function  $f$  defined by (4) be in the class  $W(a, b, c, \gamma, \beta)$ . Then we have*

$$|D_z^{\lambda} f(z)| \geq \frac{|z|^{1-\lambda}}{\Gamma(2-\lambda)} \left( 1 - \frac{2c\beta(1-\gamma)}{(2-\lambda)(1+\beta(1-2\gamma))ab} |z| \right) \quad (22)$$

and

$$|D_z^{\lambda} f(z)| \leq \frac{|z|^{1-\lambda}}{\Gamma(2-\lambda)} \left( 1 + \frac{2c\beta(1-\gamma)}{(2-\lambda)(1+\beta(1-2\gamma))ab} |z| \right). \quad (23)$$

## REFERENCES

- [1] ANDREWS, G. E.—ASKEY, R.—ROY, R.: *Special Functions*, Cambridge University Press, Cambridge, 1999.
- [2] HOHLOV, YU. E.: *Convolutional operators preserving univalent functions*, Pliska Stud. Math. Bulgar. **10** (1989), 87–92.
- [3] KIM, Y. C.—RØNNING, F.: *Integral transforms of certain subclasses of analytic functions*, J. Math. Anal. Appl. **258** (2001), 466–489.
- [4] OWA, S.: *On the distortion theorems*, Kyungpook Math. J. **18** (1978), 53–59.
- [5] SRIVASTAVA, H. M.—BUSCHMAN, R. G.: *Convolution Integral Equation with Special Function Kernels*, John Wiley and Sons, New York-London-Sydney-Toronto, 1977.
- [6] SRIVASTAVA, H. M.—OWA, S.: *An application of the fractional derivative*, Math. Japon. **29** (1984), 384–389.
- [7] *Univalent Functions, Fractional Calculus and Their Applications* (H. M. Srivastava, S. Owa, eds.). Ellis Horwood Series in Mathematics and its Applications, Ellis Horwood Limited/Halsted Press, a division of John Wiley & Sons, Chichester/New York-Brisbane-Toronto, 1989.

WAGGAS GALIB ATSHAN

- [8] SRIVASTAVA, H. M.—SAIGO, M.—OWA, S.: *A class of distortion theorem of fractional calculus*, J. Math. Anal. Appl. **131** (1988), 412–420.

Received 23. 1. 2008

Accepted 29. 2. 2008

*Department of Mathematics*

*College of Computer Science and Mathematics*

*Al-Qadisiya University*

*Diwaniya*

*IRAQ*

*E-mail: waggashnd@yahoo.com*